
There are 6 pencils in a box. How 

many pencils are there in 3 boxes? 

 

Each car holds 4 people. How many 

people can fit in 6 cars? 

There are 6 eggs in each box. How 

many eggs are there in 5 boxes? 

 

Flowers are arranged so that there 

are 12 in each row. How many 

flowers are there 2 rows? 

Motorbikes have 2 wheels. How 

many wheels do 14 motorbikes have? 

 

Smarties are red, blue, green, yellow, 

pink, orange, purple and brown. If 

there are three of each colour, how 

many Smarties are there altogether? 

Tricycles have 3 wheels. How many 

wheels are there altogether if there 

are 10 tricycles? 

 

There are 6 sparklers in a box. Sam 

has 4 boxes. How many sparklers 

does he have altogether? 

The teacher needs each table to have 

six pencils. There are 5 tables. How 

many pencils will she need all 

together? 

 

Ben wants to buy 4 lollies for each 

of his seven friends. How many 

lollies will he need to buy?                                                                        

If a spider has 6 legs, how many 

legs do 7 spiders have altogether? 

 

In my purse I had 6 5p coins. How 

much money did I have? 

A car has four wheels. How many 

wheels do 8 cars have altogether? 

 

There are 6 eggs in a box. If I buy 5 

boxes how many eggs do I have? 

If I have 10 fingers, how many 

fingers do 7 people have altogether? 

 

Each box contains 8 cans. If I have 

2 boxes how many cans do I have? 


